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ΘΕΜΑ Α 

Α.1. a 

Α.2. c 

Α.3. a 

Α.4. a 

Α.5.d 

ΘΕΜΑ Β 

B.1. Σχολικό βιβλίο 

Β.2.  

a. C4H10O  + 6 O2 --> 4 CO2 + 5H2O 
b. CH3 CH2CH=CH2 + HCl --> CH3 CH2CHClCH3 
c. CHΞCH + H2O --> CH3CHO 
d. CH3 CH2CH(OH)CH3-----H2SO4, 170O C-----> CH3CH=CHCH3 + H2O 
e. CH3CH2OH + Na ---> CH3CH2ONa + ½H2 

B.3.  

a. (CH3)3CCH(OH)CH2Cl 
b. CH2=CHC(CH3)(Br)COOH 
c. CH3OCH(CH3)2 

 

ΘΕΜΑ Γ 

Γ.1.  

a. (CH3)3COH 
b. (CH3)2C=CH2+ H2O-----> (CH3)3COH 
c. B: CH3CH2OCH2CH3 

Γ: CH3CH2OH 



Γ.2. 

Α:CH3CH(OH)CH3 

Β: CH3COCH3 

Γ: CH3CH(OH)CH2CH3 

Δ: CH3CH=CHCH3 

Ε:CH3CH(Cl)CH2CH3 

Ζ:CH3COOCH(CH3)CH2CH3 

Γ.3. CvH2v + H2  --> CvH2v+2 

           1            1 

          3/2v         ½ 

n=m/Mr=21/14v=3/2v 

n=V/22,4=½ 

Άρα  2v=6=> v=3, C3H6 

ΘΕΜΑ Δ 

Δ.1. 

a.  CvH2v+2O + 3v/2O2 --> vCO2 + (v+1) H2O 

                       1                                      v 

                    10/(14v+18)                     ½ 

n=m/Mr=10/(14v+18),     n=V/22,4=11,2/22,4=½ mol CO2 

Άρα 10/(14v+18)=½=> v=3, C3H8O 

b. A: CH3CH2CH2OH 

CH3CH2CH2OH ----[O]----> CH3CH2CHO------[O]---> CH3CH2COOH 

c. CH3CH2CH2OH + Na ----> CH3CH2CH2ONa + ½ H2 

                          1                  1                                                ½ 

                         1/6               1/6                                            1/12 

n=m/Mr=(1/6)*23gNa 

n=V/22,4=> V=(1/12) 22,4L H2 

Δ.2.  CvH2v-2 + 2Br2  ----> CvH2v-2Br4 

               1               2 

      8,1/(14v-2)         0,3 

n=m/Mr=8,1/(14v-2) 



C=n/V=>n=0,6*0,5=0,3 mol Br 

Άρα : 16,2/(14ν-2)=3/10=> ν=4, άρα  CH3CH2CΞCH ή CH3CΞCCH3 

Δ.3. C6H12O6----ζυμάση-----> 2CH3CH2OH + 2 CO2 

CH2=CH2 + H2O --> CH3CH2OH 

 


